g #1H¥L2H

R
gl BRI (2020-2021)
B

(— /NI = 1-534)

A —E-—E—HLH $e
B B 58 R E FEF - FEg -

#A4IB

L ARG HRSREE - SRR - BRI R - Z - HEH5585T - ZHiS

2257 » ZIHEERELL205) - IFIELES ST -

AsA A&7 Fy10077 ©

AAGHEEE H RSB RN SRS > BRAREAREEE T T ZEALA -

PrEFRITEIASL » ZEE Y IHFr A -

ARG E A —E MREE B4 RL -



g #2H K 12H
FEL (58 43)

1. é\xm%&ztyu:%“a@;r_rao

(377)

24xy°

———  LIEIEEFERREE -
37X’y

2. 1bfE

(3 71)

3. 191> ABCD H1 EFGH FsfH{IEET -

v (x+5)cm
4 48 cm D E H
X cm
40 cm F G
ycm
B C
96 cm

= 1
R ox oy,
4 )




FI3IHHI12H

th &) #E
4. RN THIE -
(@) x*—y*>

(b) x*+2xy+y’ s

(c) 2x*+8x+6 °
(447)

5. B a:b=1:3 K a:c=3:43K

(a) a:b:c.
b —2 i -
2a—3c

3 41




g BAH KL H
6. FUEAIAYEEFIRUZ 1 1 8000 - ez I eAVEFREEEZE 500 m » SKEZ I AR & - B2, em E
fir -
(357

+y=7

X
7. @@Hypﬁjﬁ&{zx_y: 5 °

(4 73)

8. Tl 3(x*+4B)=A(x*-4) K4 K BHIME -

(4 97)




gk B o5 12T
9. ABRE MYIRARBI -
4x 2
(a) 15y7 3wy
7x+3y+13y+x
3x-5y 5y-3x

(b)
(573)

0, o —-L.1
f u v

(@) ©v EREAHHIEH -
(b) #H u=20 Ml f=16>K v
(577)




th AR %6 H It 12 H
11. (a) A==5f# 38> —ab—2b%.
(b) M, HE3a*—ab—2b°+2a—2b -
(4 77)

12. B MY RE = -
x> +6X+9
@ —FJ————
X°+8x+15
7 2

3X+6 X+2

(b)
(6 57)




g B BrAAER
13. B41 M(0,m) EArpAE Gy—2: 2x—5y —20=0.
(@) 3k mAJE -
(b) T E R A (5,-2) -
(599

14, {EEEEIRETE FIRIRA $C AR c:=h(9‘124w> K5 Hift fem BEEERIIERE b em

R FREE S S wkg REEFAEIVERE -
(@) % wHoE AT IS -
(b) {ESBIERRER AR $29.6 < 25 t=6 Il h=4  REHFAEHTTE -
(543)




th AR HER 8 H 12 H

ZEB (22 57)
15. R0 N A& -
(a) 27x°+125y°
(b) 27x%+125y° +3x+5y
57

16. (a) 2 FrrHYE A R4S x+ 2y = 3WV[EI: - fEF—EASLE T HgEEENE

2% = 4
s > W {Xizyy:_g °

> X

x+2y=-3

& 2
(b) BX1 a F b BHME - o 813 ZHER b B -2 (98> H 4 B b ZHFER o A

2R o SKIWEHIE -
(6 77)




th AR HER %9 H H 12 H

17. B 1% n &N F R A5 M?{? , E,]13+23+33+m+n3:nz(n4+1)2 o
(a) K 2+22+32+...450° AYMH -
(b) It > 3K 51% +52° +53% + .- +100° HYMH o
(47)

18, BUEIFA y R - (AERhAD & MR - IR © RERAETH -

@ () Dy REZGRFEATSEIRVRER -
(i) “KEUES - SEGNFHRATERERAEEHALE -
(b) EZEFT 24 FUMER - SRKFEGAVEREHE -

(773)




A B
SIREIEE (20 77)
NS 2 53 - AE MYIZERNE LIRS R

%10 H £ 12 H

19

20 21 22 23 24 25 26

27

28

19. BF3FAIAE 16E m/s o DL km/h FToREEFE o

A.

B.
C.

D.

30 km/h
40 km/h
50 km/h
60 km/h

20. HErLL N ERE N A RS R

i (2x+3)(x-1)(x+4)
1
=2X? +9x% +x—12
22X+ 9xP +x—12
W1 (2x43) (x=1)(x+4)
(1) (i1)
A, R R i
B. K= fEE
C. JER R i
D. [EH fEE ]

21, HIR T AT LIS a L R B 4 -

(i) | 100g “FAMYEEE $20.

(i) | /NEHFNERVERE D HIE 60 kg #1130 kg -

(1) (i1)
A. R 4
B. B2 tt
C. tk R
D. kb th
22. > + 3 _ 0 =
Xx+5 x+3 (x+3)(x+5)
A S
X+3
g _8_
X+3
c 3
X+5
D, _8_

X+5




S8

24.

25.

26.

27.

28.

AR R
23. HR 1 Boriiak 12 #e

A PEATRERL - )
A 33 8%

B. 80 #%

C. 125 %

D. 333

YR E R R ?
A. 4x+10=0

B. 4x+10=>5x

C. 4x+25=(x+5)

D. 3X_5:12x—20

—HERNEEE - #UKNEE A -
Sy R—EEREEK—

?>

20
21
22
23

o aw

—2X* —2x+12 =
A (x+3)(x-2)
-2(x+3)(x-2)
2(x+3)(x-2)

B
C.
D. —(3—-x)(4+2x)

AR SR Ry 4 BEEST720 » (M HIFEUR 1.5 /NEF -

A, $120//NBF
B. $180//\H%
C. $270//[\HE
D. $480//)\Hf

Bl x+y+2=0>

K pHl gHIE -

X p ! q 4
Y 0 -3 —4 -6
A p=0,g=2
B. p=0,9=3
C. p=-2,g=2
D. p=-2,9g=3

F U HELILZEH

M1 SEEE Rk 15 T - 100 BT AT#R %/ DILsl? (B /AAEREE

BER M8 HES ° o1 hllEeSx K

e /KA EH -

HUTELL $/NRFRT




4R g 12 H % 12 H
B hIRE (S 47)
29. RATfE x°+x8+x3—-3 «
(5 77)

AT



